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Stat 576 HW2

11 Mayretal. (1994) took an SRS of 240 children who visited their pediatric outpatient
clinic. They found the following frequency distribution for the age (in months) of free
(unassisted) walking among the children:

Age (months) ‘ 9 1 11 12 13 14 15 16 17 18 19 20

I
N

Number ot'(‘hilclrcn‘ 13 35 44 69 36 24 7 3

a Construct a histogram of the distribution of age at walking. Is the shape normally
distributed? Do you think the sampling distribution of the sample average will be
normally distributed? Why, or why not?

b Find the mean, SE, and a 95% CI for the average age for onset of free walking.

¢ Suppose the researchers wanted to do another study in a different region, and
warited a 95% CI for the mean age of onset of walking to have margin of error
0.5. Using the estimated standard deviation for these data, what sample size would
they need to take?

12 The percentage of patients overdue for a vaccination is often of interest for a medical
clinic Some clinics examine every record to determine that percentage; in a large
practice, though, taking a census of the records can be time-consuming. Cullen (1994)
took a sample of the 580 children served by an Auckland family practice to estimate
the proportion of interest.

a Whatsample size in an SRS (without replacement) would benecessary to estimate
the proportion with 95% confidence and margin of error 0.107

b Cullen actually took an SRS wifh replacement of size 120, of whom 27 were not
overdue for vaccination. Give a 95% CI for the proportion of children not overdue
for vaccination.



